Dividing Integers and Decimals
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(a) A baker has 3 kg of flour. If each cake
requires 0.2 kg of flour, how many cakes
can the baker make?

(b) A pile of books is 12 cm high. If each
book is 0.8 cm thick, how many books
are there in the pile?

(c) A bottle contains 2.4 litres of
lemonade. If each glass contains 0.3
litres, how many glasses of lemonade can
be filled from the bottle?
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(a) A string of sausages is 1.26 m in
length. If each sausage is 0.18 m long,
how many sausages are there?

(b) A milkman is carrying a crate which
contains 12 bottles of milk and weighs
11.5 kg. If the crate weighs 0.7 kg, how
much does each bottle of milk weigh?
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